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1] BT [Batt/KEFHE B EmEIIFRKEHI5—2 A 1037 1027 10 735 1,338,843
2| B |mHESFREAXSH AT FEARKEOLS A 964 954 10 74.6 315,621
3| BE [BAXEHHVAF wEhAER6—6 A 897 897 0 68.0 269,562
4] —f% [EESHE =M AR 2—15—1 A 891 861 30 80.0 271,880
5| T |MXLHETHE = BhEIURT1—211—11 A 871 851 20 77.8 116,774
6| BE |BAS#iavDER [BEETFHERE1S5—2 A 847 867 -20 63.5 235,014
1l BE Az EEIOv /8T EAFIET1—32 A 844 844 0 151,250
8| B |AIR=wEafEL wahinfr4—73 A 820 820 0 36,515
9] —ff | KEESHEASs wam/IER8—26 A 814 814 0 68.8 94,007
10] #%F [MAXLHE=#H wATESE1—30 B 794 794 0 112,965
11 —#% [#X£12EE = BTHiERI5—149 B 773 763 10 73.0 140,420
12| T [BERESHBIIKRLITE |EEhXEFE2—220 B 727 727 0 5,409
13| —#% |BESHEE wATIRFAFIEB48FMMD2 B 722 722 0 67.3 244,426
14| BFE [#HXLt<ILEs HETheE2 07 —36 B 708 708 0 6,061
15 —#% [%KX£#542 wHETKXEE5—45 B 667 667 0 61,102
16 —f% |[ZHHEFESH WA oisE5—24 B 660 660 0 22,544
17] —#% [t E—AvH wat/NER/\TH151&Hhns B 643 643 0 63,003
18] T [T LKE /BT EAET6 —1 C 716 716 0
19 —f& [#%kRXE&#T797 et E LA 1 —200 C 696 696 0
200 BE |AREstEHIXER BT EFET 1 —56 C 676 676 0
21] —f% |BRE=HETSIE HiETE RS —112—1 C 659 659 0
22 —f |BAXEeunhEEES wEThZER1—155 C 641 641 0
23| BT |BAsHHZHR—LA i ETh# RT3 T B30 41 EE L3 Cc 635 635 P 53.0 14,035
24| —H% |BARES#HAZET w=,8hEILFRA32 C 626 626 0
25| —fg |IUARKEHRAESH EEThEE2TH7EDS C 613 613 0
26| BE |EA=uEHAE wETFEHHF20—3 C 610 610 0
271 —# |BAES#HXE EETh AEFRI 7T H48%ih C 597 597 0
28] —f% |HREFEM T miEA4—172 C 563 543 20 75.0
29| —f% |l HEThig/KET1—138 C 505 505 0
30 —f [FRESHIATES EETAMNEGFEA76EMD6 C 476 496 -20 61.0
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